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public class TransferMoneyActor extends AbstractActor {

@Override
public Receive createReceive() {

return receiveBuilder()
.match(CheckClient.class, this::checkClient)
.matchAny(this::unknownMessage)
.build();

}

private void checkClient(CheckClient message) {
// some logic for checking client

}

private void unknownMessage(Object msg) {
log.error("Received unknown message: {}", msg);

}
}





public class TransferMoneyActor extends AbstractActor {
//initial logic with createReceive method

private void checkClient(CheckClient checkClientMessage) {
//do some logic for checking client

getContext().become(transferMoneyBehaviour);
}

private final Receive transferMoneyBehaviour = receiveBuilder()
.match(TransferMoney.class, this::transfer)
.matchAny(this::unknownMessage)
.build();

private void transfer(TransferMoney message) {
//do some logic for transferring money
self().tell(PoisonPill.getInstance(), ActorRef.noSender());

}
}



ActorRef transferMoneyActorRef = 
context().actorOf(Props.create(TransferMoneyActor.class));



ActorRef transferMoneyActorRef = 
context().actorOf(Props.create(TransferMoneyActor.class));

TransferMoney transferMoneyMessage = 
new TransferMoney("+71115555555", "someBank", 1000);

transferMoneyActorRef.tell(transferMoneyMessage, self());
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akka {
actor {
default-dispatcher {

type = Dispatcher
executor = "thread-pool-executor"
thread-pool-executor {
fixed-pool-size = ${processingThreadPoolSize}

}
throughput = 1

}
}

}
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Cancellable timeoutCancellable = actorSystem.scheduler()
.scheduleOnce(Duration.ofSeconds(3), self(), "timeout", 

getContext().dispatcher(), null);

timeoutCancellable.cancel();



TransferMoney transferMoneyMessage = 
new TransferMoney("+71115555555", "someBank", 1000); 

transferMoneyActorRef.tell(transferMoneyMessage);

TransferMoneyReply reply = new TransferMoneyReply(TransferStatus.OK);
expectMsg(Duration.of(3, TimeUnit.SECONDS), reply);

new TestKit(system) {
{

}
}



java.lang.AssertionError: assertion failed: timeout (3 seconds) during expectMsgClass waiting

for class ru.nspk.sbp.transactions.TransferMoneyReply

at scala.Predef$.assert(Predef.scala:219)

…

at akka.testkit.TestKit.expectMsgClass(TestKit.scala:896)

at ru.nspk.sbp.transactions.TransferMoneyTest.shouldOk(TransferMoneyActorTest.java:51)

[ERROR] [04/09/2021 16:39:36.141] [default-akka.actor.default-dispatcher-5] 

[akka://default/system/testProbe-1/$a] Ups

java.lang.NullPointerException: Ups

at ru.nspk.sbp.transactions.TransferMoneyActor.transfer(TransferMoneyActor.java:121)

at akka.japi.pf.UnitCaseStatement.apply(CaseStatements.scala:26)
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cluster {
roles = ["TransferMoneyRole"]
downing-provider-class = com.ajjpj.simpleakkadowning.SimpleAkkaDowningProvider
use-dispatcher = "akka.cluster.default-cluster-dispatcher"
default-cluster-dispatcher {
type = Dispatcher
executor = "thread-pool-executor"
thread-pool-executor {

fixed-pool-size = 30
}
throughput = 1

}
failure-detector {
acceptable-heartbeat-pause = 10s

}
}



ActorSystem actorSystem = ActorSystem.create();
List<Address> seedNodes = new ArrayList<Address>(){{

add(new Address("akka.tcp", actorSystem.name(), "172.16.0.1", 1234));
}};

//Get proxy for actor in cluster to call it
ClusterSingletonProxySettings proxySettings = 
ClusterSingletonProxySettings.create(actorSystem).withRole("TransferMoneyRole");

ActorRef myActorProxy = system.actorOf(
ClusterSingletonProxy.props("/user/transferMoneyActor", proxySettings),

"transferMoneyActorProxy");

Cluster cluster = Cluster.get(actorSystem);
cluster.joinSeedNodes(seedNodes);
//You’re in the cluster now!



ClusterSingletonProxySettings proxySettings =
ClusterSingletonProxySettings.create(actorSystem)
.withRole("TransferMoneyRole");

cluster {
roles = ["TransferMoneyRole"]
…

}





public class TransferMoneyToShardingExtractor implements MessageExtractor {
public static final int SHARDS = 257;

@Override
public String entityId(final Object message) {

if (message instanceof TransferMoney) {
return (((TransferMoney) message).getTransactionId();

}
return null;

}

@Override
public Object entityMessage(final Object message) { return message; }

@Override
public String shardId(final Object message) {

String entityId = entityId(message);
if (entityId != null) {

return String.valueOf(entityId.hashCode() % SHARDS);
} else {

return null;
}

}
}



ClusterShardingSettings clusterShardingSettings = ClusterShardingSettings
.create(actorSystem).withRole("TransferMoneyRole");

ActorRef transferMoneyRootRef = sharding.start("transferMoneySharding", 
Props.create(TransferMoneyActor.class), 
clusterShardingSettings, 
new TransferMoneyToShardingExtractor());

TransferMoney transferMoneyMessage = 
new TransferMoney("+71115555555", "someBank", 1000);

transferMoneyRootRef.tell(transferMoneyMessage, self());













akka.cluster.sharding.remember-entities = on
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public class TransferMoneyActor extends AbstractActor {

private ClientFull clientReceiverFull;

private void checkClient(CheckClient checkClientMessage) {
clientReceiverFull = getAllClientInfo(chechClientMessage.getClientId());
someChecks(clientReceiverFull);
getContext().become(transferMoneyBehaviour);

}

private final Receive transferMoneyBehaviour = receiveBuilder()
.match(TransferMoney.class, this::transfer)
.matchAny(this::unknownMessage)
.build();

private void transfer(TransferMoney message) {
transfer(clientReceiverFull.getClientId(), message.getClientSenderId(), message.getSum());
self().tell(PoisonPill.getInstance(), ActorRef.noSender());

}
}



public class TransferMoneyActor extends AbstractActor {

private TransferContext context = new TransferContext();

private void checkClient(CheckClient checkClientMessage) {
ClientFull clientReceiverFull = getAllClientInfo(chechClientMessage.getClientId());
someChecks(clientReceiverFull);
context.setClientReceiverId(clientReceiverFull.getClientId());
getContext().become(transferMoneyBehaviour);

}

private final Receive transferMoneyBehaviour = receiveBuilder()
.match(TransferMoney.class, this::transfer)
.matchAny(this::unknownMessage)
.build();

private void transfer(TransferMoney message) {
transfer(context.getClientReceiverId(), message.getClientSenderId(), message.getSum());
self().tell(PoisonPill.getInstance(), ActorRef.noSender());

}
}
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ActorRef transferMoneyRootRef = sharding.start(
"transferMoneySharding", 
"TransferMoneyRole", 
"datacenterA", 
new TransferMoneyToShardingExtractor());



@Override
public Receive createReceive() {

return receiveBuilder()
.match(TransferMoney.class, this::transfer)
.matchAny(this::unknownMessage)
.build();

}

private void transfer(TransferMoney message) {
//do some logic for transferring money
TransferMoneyReply reply = new TransferMoneyReply(TransferStatus.OK);
sender().tell(reply, self());

}



ActorRef checkClientActorRef = context().actorOf(Props.create(CheckClientActor.class));
ActorRef transferActorRef = context().actorOf(Props.create(TransferMoneyActor.class)); 

akka.actor.typed.ActorRef<TransferProtocol> transferTypedActorRef = 
Adapter.spawn(actorSystem, new TransferMoneyTypedActor(), "transferActor");

transferTypedActorRef.tell(transferMoneyProtocolImpl);

checkClientActorRef.tell(checkClient, self());
transferActorRef.tell(transferMoney, self());

transferActorRef.tell(checkClient, self()); //абсолютно нет проблем при компиляции
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